
SAP ABAP table BBP_TOLERANCE {Tolernace key entries}

BBP_TOLERANCE

CLIENT [CLNT (3)]

TOL_GROUP [CHAR (4)]

TOL_KEY [CHAR (2)]

CURRENCY [CUKY (5)]

BBP_TOL_GRP

CLIENT [CLNT (3)]

TOL_GROUP [CHAR (4)]

 BBP_TOLERANCE-TOL_GROUP = BBP_TOL_GRP-TOL_GROUP 
0..N

1
BBP_TOL_KEY

TOL_KEY [CHAR (2)]
 BBP_TOLERANCE-TOL_KEY = BBP_TOL_KEY-TOL_KEY 

0..N
1

T000

MANDT [CLNT (3)]

 BBP_TOLERANCE-CLIENT = T000-MANDT 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BBP_TOLERANCE-CURRENCY = TCURC-WAERS 

0..N

0..N


